T ZIL =
2401 XFHFERETE
X754 HhEER=3E55(2401)
& REAMSHITXES IR
EHEHE 201X (KFERO—ER)
C.E.FI,FI-1Tf
E-4= I%E e 1 B4 #=2 i==Rii Pl k-] =
B EFEER
2401 X . |HENE=A= . EE=EAGE
CT# km | 519 0.22 B x ZEE
FIERIIHZEAHK
EhhiRE (:J:éi?ii
o | —EHER 2 EPE=E-Nfi
ET?2 km | 519 0.22 B x LR
o |FAERXIARAI 2 2 EXREELNES
FIT% km | 919 0.26 B x LR
o | —EHAIE ; EXE=EAGES
FI-1TH# km | 919 0.24 Biff x ZILE
it = 1 BEZEA-1)LY
Nt
EEZTE it
Taves A HoSHmE
- = 1 RETBEEERLY
#
ERE %
BEE oH
h RN % | 1000

a5t




(B =)
T 1 FHEER
& Mt
HZNRE=AE(EFRERDAEZERELIZIEE)
(CI %2 S=1/500) Km Y B i F
(GNSS7rT+47—7%L)
(BERREL) TKm-45%Y  FEEEHE FiBH
(BE1E)
EES
& B # #H RO # =2 B | B @ & 28 i;‘z' B OE
EEAGE IS AT T 07] A
BIEFEh 511 A
il = 1 B 4 JRIEPN
B=BF 16| A
N F
FEE BlEWEE 52 A
N F
HMHE £EE | ¢ 75+90mm 4 K
T 0.005 FRE#M#E 00.5%
I F
HiiEE GNSSHIEH 1 & 21| £H
GNSSfiE#T
e R 07| £H
EEAEE W
DEH+FRE M
MaE 0.005 1) D0.5%LLH
G
HESRES 0.05 BEEEEBEDY%
EEFEEFHE |
RO+ RESE
EESEE 0.09 %msz*




(BAfR =)

% 2 SHffix

& i)

—EHERAE (L R, Mt HETFIRRGZL)

(ETF2 S=1/1000~ 1/5,000) Km Y B i F

HTHARHY TIKMBYEE  EEEH
ME | M8 | RE | BE (M| 2@ | 2@ 32| W =
EEAGE 3B 3 4F B 6.5] A
B2 645 A
paI-R Ak 645 A
AEHF 144.6| A
AE@HME 11.6] A
N B
BHEE | ARERES 0.03 EREEED3%

gt




(BAfR =)

¥ 3 FHfX
& e Rie!
MEXKAREIZEF I (TSi%) . DIIEHE
(Bt S=1/500) Km %Y Hi{fi&
KRR HE)FRE L TKmMmYYEE TEEEE TiEth B 1., FA¥ERH
Bifi%
g B 7 #H % B = BAr | B (@ & %8 ii B =
EEAGE e e 25 :01] 3.6 A
BIERER 150, A
BIEHETw 222 A
AIEBF 341 A
I F
HIEE BIE/EE 148] A
I F
MERIAR R
HEE (T8 |45445%450m 371
55
(T3H) |4 5x45x450m 25
O 0.005 FTEM L D0.5%
I F
BEEE ATy 28 98| &H
EFstEi | yay 10.7| &
EEAEE B
DER+FRE M
MaE 0.005 BE) D0.5%L R
I F
EERE% 0.05 BEEEZEE D%
I 5t
EEFEEHEHE
RO+ BEERE
BEEEE 0.07 B{RH
it




-

(BAfR =)

F 4 BHER
& e Rie!
—E A EF I -1(TSX)
(Bt S=1/500) Km %Y Hi{fi&
XIRR(F#E) A& ET £ TKmMmYYEE TEEEE TiEth B 1., FA¥ERH
Bifi%
i B 7 #H % B = B | B @ & %8 ii B =
BEiEALE B S HER 29
B 2 F B 4 56.8
piEdES 56.4
IN F
PG BIEMBE 51.3] A
N F
MR E MaAT—Yay 2%k 51.3| &H
EFEEH | oy 20.4| &8
EEAE - EW
DEH+ERE M
MaEE 0.005 BE) D0.5%LLA
N F
HEREE 0.05 EEEEE D%
N B
EEEEEMHE
RO+ BEEE
BEEHEE 0.07 EHH
&t




(BA#

=)
¥ 5 FHX
& e Rie!
HHEEHhERE
EFE. PR, &% §3E 1 HY B O *
" " Bifi%
i B 7 #H % B = B | B @ & %8 ii i
EEAGE IS T TR 1.5
B2 HER 1.0
& B Em A 0.5




ERSER G LK)

g " Tkm Frm 4R (B RRAL)
Eonas |tEEESmuE | R | msexs L e
IiE past 4 e -

A pExanem| BESHG | NEREE| HERF | HEwpe &t

EHE A 0.3 0.3 0.5 0.5 1.6
BEER A 1.6 1.6 15 47
RE VAN 1.6 1.6 1.6 438
&l A 0.7 2.1 2.1 49
STEEHE A 0.4 0.9 1.3 1.1 3.7
S 0.7 1.2 18 16 5.3
VAR S 39 5.3 5.2 14.4
Hi 0.7 5.1 7.1 16 5.2 19.7




ERSER G LK)

5 S ( %ﬁ%%ﬁmﬁ%&%i | 151%3 BB | ke 1,000% (FIEA) A
IiE past 4 e -
A pExanem| BESHG | NEREE| HERF | HEwpe &
FHE A 4.0 40 4.0 12.0
HioTEREAR EAS 2.5 2.5 25 7.5
BAREBELE DI | 4 2.5 2.5 2.5 75
FERBREEER| R 6.5 6.5 26.0 39.0
REE & B ]
ERTRARAEES A
DIFEEROEE
HERE D@ A 0.6 0.6 2.4 36
ERBFTNOFRE | 4 11.6 11.6 23.2
METAIERAE | 4
i AE 4t 431 431 86.2 1724
RRER A 5.3 5.3 15.9 26.5
KA B ERDREE ]
S 3 40 16.4 16.4 443 81.1
HhE 25 48.1 481 100.3 11.6 210.6
it 6.5 64.5 64.5 1446 11.6 291.7




ERSHER G LK)

a = . (X IE

FI I*E %Egl.s*E;ﬁ“EF I BR: SRR e 2 NS . e

i . Z 2 1kni 396 & (HAEREI4R &) T, 2

(DIFEHBR) (TSi%) 1/500 I RETH
T2 Aot # #h
" Je— Je— e e = =

XA |REXEEm RBHE | NEEME| MENT | NEHmE it
FTIE A 0.2 0.2 04
B VA 5.5 5.5 5.5 16.5
RE L2 5.0 5.0 10.0
A LA 24 9.8 19.6 9.8 41.6
HE A 3.4 3.4 3.4 34 13.6
=¥ A 35 35 0.6 76
2E3 3.6 7.1 6.9 40 21.6
e 7.9 15.3 30.1 14.8 68.1
Hi 3.6 15.0 222 341 14.8 89.7




ERSHER G LK)

g — Al EFI-1 R &3 = . 1’E¥?&1¢;
FI-1IT%8 (TSi£) 1/500 BEEXE 1kmi 7,700 (5 =) I?j;ﬂizifé\ﬁ iﬂz
I past 4 e -
A pExanem| BESHG | NEREE| HERT | NEwpe it
FHE A 0.4 0.4 038
&l 4t 0.8 51.3 51.3 51.3 154.7
HE-EE A 1.7 5.1 5.1 1.9
S 3 2.1 55 5.1 12.7
VAES 0.8 51.3 51.3 51.3 154.7
Hi 29 56.8 56.4 51.3 167.4




B8R (M LK)
TATRE BAEGEE | A0 . B stam | (AR
T A5t #
e VIR T BIERERME | MEBF B
EFEE L2 1.0
o [ B P2 05 1.0
RIREE L2 1.0
RE3
LS 05 30
&t 0.5 3.0




MERESEXEETE(A—1) M ik

( - RS ) EN TR Fa—F R a— 1 R = —
SRR EEHAT 31 371 20243137101
No XA | FHEXER | X 4y | AR | v 1/250 1/500 | 1/1000 | 1/2500 | 1/5000 * RIS Al g &l a2 Qe |5 o |88/ Mkt
Knf| FH4 AT E nf B R 25272/ 0.19
1 0.19 | ®m 213 892 R @) HIE @) ES 33.4 %
Fid I oomi
- RERED . = < 2 i
FHmiX 2 — | FHEICAE FARRE | G4 £ ot i1 2 3 | () a3 - =3 =311 [iEpIS I L | AT | B | B FHEIRX 7~ B O BREE
| (F,6) 138 1,377 bt A 6.8 Km
20243137101 a6 O O Ol tnm
FEESBI T R E MR EHAE AR [EAE - (I A ¢ P AR
T i . (%) i P AR (Knf) Fo F oH
W B |BRNE| R | o | Fo | R A ) (k nd) ZRE LR [ER-mRiy ES [(UEEPN (FFRLERE DN )
@ B |Isky | Bk 6 € Y e (1Knf%b0, M) HESY FORHE S $40a)
1. 15000 2L R AR K 2 FLE
C 1.15) — — - — 1.00 0.22 0.19 (0. 05) 0. OL[[F A HIAS0. 25Kt ATl i ALK/ AR MEATEL : 1/4
D _ (0. 16)
1. 38092
FI 1.15| 1.52| 0.79] 1.00 1.00 — 0. 26 0.19 (0.20) 0. 07]
F I (o FHOMFET) — —
1. 24476
FII-1 (TS#%) 1.15| 1.64] 0.66] 1.00 1.00 — 0. 24 0.19
(0. 27) 0. 05
FI-1 (RTKi%) -
FIO| & & - - - - - - (0.03)
\ JE X ( Knf%i )
2 - - - - - - - X X 1.005=
G - - - - - (0.11)
1. 15000
E A K 1.15| — 1.00[ 1.00 — — 0.22 0.19 0 (0.09) 0. 02f AN As il HlTRBER 2 L
LA — - — - — — 0.19 -
H - - - - - 0 (0.09)
H | B % - - - — - - 0 - BHOFHEX TS 1 [l
B e M/ %
A A k ot &l B (#5%) k nf]
(7 ®m X & &) 0.19 0 0.15




WEZBBEEER ESan e
TERRRE 2 W& AT e EE
ik B ik MRl
T 5 Al A
s FEVER 1/500 1/1000
CLf JI AT 3.9 3.4
D Tf2 BF 10.4 6.1
FI Tf2 BF 12.4 7.5 |DTREWLTSE)
F1TF B 20.3 12.7 |DTREKHY (TSHE)
FI-1 - H A4 51.3 22.0
HT JI =Rl 1.3 1.3
ETFE (OhE) [TES 58.3 WA B A
E THE (UhE) BhF 58.3 WA S m
E TR (O E) BF 57.2 HTHE 8 SiElS A
E T (UM E) BhF 57.2 WTES: M GRS A
HEEAL 20243137101 | [HAG | 0.19] oF&IZimE | 0.00
X4 KTEREWD—EB
T HIEET P EESS HE Gt e e
C 1.15 3.9 0.9
D 0.00 10.4 0.0
F1 1.38 20.3 5.3
aF 0.00 12.4 0.0 31.0
FII-1 1.24 51.3 12.1
EUNE) 1.15 57.2 12.5
HOMNE) 0.00 1.3 0.0




